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7 Abeam is pivoted at one end, as shown.
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The beam weighs 6.0 N and its weight acts at a point X 40 cm from the pivot.

6.0N

A force of 4.0N is applied to the beam causing it to balance horizontally.

In which direction and where is the 4.0N force applied?
A vertically downwards at 20 cm to the left of X

B vertically downwards at 20 cm to the right of X

C vertically upwards at 20cm to the left of X

D vertically upwards at 20 cm to the right of X

8 The diagram shows two forces acting at right angles to each other.
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What is the resultant of the two forces?

A 10N B 5.0N C 70N D 120N
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10 A ball of mass 0.16kg is moving forwards at a speed of 0.50m/s. A second ball of mass 0.10kg
is stationary. The first ball strikes the second ball. The second ball moves forwards at a speed of
0.50m/s.

What is the speed of the first ball after the collision?

A 00m/s B 0.19m/s C 031m/s D 0.50m/s
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Very small values of which quantity are measured using a micrometer screw gauge?
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A man stands next to a railway track.
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A train travelling at 40m/s takes 2.0s to pass the man.
What is the length of the train?
A 20m B 38m C 40m D 80m

Which quantity is equal to acceleration?

A

B
Cc
D

area under a distance—time graph
area under a speed-time graph
gradient of a distance-time graph

gradient of a speed—time graph

On the Moon, all objects fall with the same acceleration.

Which statement explains this?

A

B
Cc
D

On the Moon, all objects have the same weight.

The Moon has a smaller gravitational field strength than the Earth.

The weight of an object is directly proportional to its mass.

The weight of an object is inversely proportional to its mass.
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5 A measuring cylinder contains 30 cm® of a liquid.
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Some more of the liquid is added until the liquid level reaches the 50 cm® mark.
The reading on the balance increases by 30g.

What is the density of the liquid?

A 0.60g/cm® B 0.67g/cm®* € 15g/cm® D 17g/cm®

6  An object moves at constant speed around a circular path.
Which statement is correct?
A Aresultant force acts on the object outwards from the centre of the circle.
B Aresultant force acts on the object in the direction it is travelling.
C Aresultant force acts on the object towards the centre of the circle.
D

There is no resultant force acting on the object because it is moving at constant speed.
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9  Which statement describes the impulse acting on an object?
A Impulse is the change in kinetic energy of the object.
B Impulse is the change in momentum of the object.
C Impulse is the rate of change of force acting on the object.

D Impulse is the rate of change of momentum of the object.
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